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3. (20 pts.) A thin rod with linear charge density λ is bent into a quarter circle of radius
R as shown in the figure. What is the electric field vector at the origin at the center of the
circle? Show your work carefully. Remember that a small piece of the rod of arc length
∆s spans a small angle ∆θ = ∆s/R.
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3. (20 pts.) A thin rod with linear charge density A is bent into a quarter circle of radius 
R as shown in the figure. What is the electric field vector at the origin at the center of the 
circle? Show your work carefully. Remember that a small piece of the rod of arc length 
!ls spans a small angle 118 = !lsi R. 
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